CHEM 120A Midterm 1 Solutions March 7, 2014 Jon Witte

Chemistry 120A Midterm 1

Useful formulas

Schrodinger’s time-dependent equation with solution W(z,t) formed from the normalized stationary state
wave-functions, ¢, (x), for the nth energy level:

tho¥(x,t)/0t = HU(x,t),

\I/(x,t) = Z Qp ¢n(m) e Ent/h

The constants a,, are specified by the wave-function in which your system is prepared before measurement,
ie., an = (¢,|¥(z,0)). Expectation values are obtained from the wave-function by:

(@) = /d:p U*(2,t) G U (x,t),

where G is the operator for the observable G, and U*(z,t) stands for the complex conjugate of ¥(z,t). In
one-dimension, the momentum operator and Hamiltonian are:
p=(—th)d/dz
H =p?/2m + V(z) = —(h*/2m) d*/dz* + V (x)

Properly normalized eigenstates of the momentum operator will be specified where necessary.
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1. (40 pts) A particle of mass m is confined to a box between x=0 and x=a where there is no potential
energy. The stationary state wave functions are ¢, (z) = (1/2/a)sin(k,x) with the quantized energy
eigenvalues E, = h%k2 /2m, where k,, = nrm/a, with n = 1,2,3,.... Within this spatial region, the
normalized eigenstates of the momentum operator are e*»*/,/a where k,, = +nn/a.

Consider that the particle in the box is prepared in the following properly normalized, non-stationary

state:
U(z,0) = (v/2/3)(¢1()) — (v/1/3)(¢2(x))

(a) A measurement of the energy is made. What is the probability that E; would be measured? And
Ey?

(b) Find the expectation (average) value of energy.
(¢) What are the possible momenta that you would measure at t=07 With what probabilities?

(d) Write out the time evolution of the non-stationary state wave function given above. With what
frequency would the probability density oscillate in position? Please state your answer in terms
of h, m, 7, and a.

Solution

The system begins in a superposition of the n=1 and n=2 particle-in-a-box states such that:

U(x,0) = \/§¢1(x) - \/§¢2(17)

(a) A measurement of the energy is made. The probability that F; is measured is given by

2
sl = o1 | W) = <.

Similarly, the probability that Fs is measured is given by

1
el = [0 | )P = 5.

(b) The expectation value of the energy is given by

(v]a]2) =X leE
= |e1|’ By + |2 Es
B 2 him? 14~
" 32ma? 3 2ma?
K22

ma?

(¢) To find the possible momenta, we write the wave function as a superposition of (normalized)
momentum eigenstates:
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U(z,0) = \/§¢1(z) - \/i%(x)
- \/5\/§sin(k1x) — \/g\/zsin(kzx)

\/g 21Z (exp%lx) B exp(\—/gklx)) \/g 21Z (exp\(}'ggx) B exp(\—/gkﬂ)>

The measurable momenta are the eigenvalues of p = —ih% associated with each of these eigenstates,
i.e.

hr  hm 2hm  2hm
L P P

And the corresponding probabilities are just the squared magnitudes of the coefficients, i.e.

hm 1
p o - -
r(p a)’ 3
2
Pr m) 11 1
Tr = =) = |— = —
p a 32i| 3
2
Pr( _»2hw) 21 1
P==77 V32| 6
2
Pr( 2571') 21 1
Tr = =) = |— —_— = —
P a 32| 6

(d) Expressed in the basis of energy eigenstates, the time evolution of the wave function is given by

LL' t f¢1 eXp ( ’LElt) \/>¢2 exp < ZEQt)
ha? ihar?
- 5o (<5t ) ~ oo (-20)

The probability density is then

Uz, t)* = U (2, ) ¥(z,1)

2 , 1, 2v/2 (Ey—E;
= §¢1(JC) + §¢2( r) — 7¢1( Y2 (x) cos (ht>

Thus, we see the probability density oscillates with frequency
EQ - E1 3h7T2

h © 2ma?
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2. (20 pts) Consider a mass moving in the 1D potential, V(x), shown in Figure 1, describing a particle
that could exist in either of the two potential wells shown.

(a) Sketch the energy levels of the discrete, bound states.
(b) Label the potential along the y-axis above which the states are continuous for all x.
(¢) Label the level that is considered the ”zero point” energy level for each well.

)

(d) For the energy, E, indicated on the graph, label the region(s) along the x-axis where you would
expect quantum mechanical tunneling.

Solution

We accepted two different solutions for this problem. The correct solution is given immediately below.
Notice that the second (higher energy) well has no bound states. This is due to quantum tunneling.
Imagine a state (any state) prepared in the second well. That state will eventually tunnel through the
barrier to the left out into the continuum, and thus there are no states that remain localized indefinitely
within that second well.

V(x) A

E @ Tunneling

Continuum
States Above
This Energy

Zero point energy

Bound States
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This is the other solution we accepted: bound states in both wells, with a corresponding zero point
energy in each well, and continuum states at all x at energies above the barrier between the two wells.

V(x)
Continuum
States Above
ThisEnergy—p-—_—_______ < ”

E Tunnelmg\ / Tunneling
/ %/—Zero point energy
\——/—Zero point energy
Bound States
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3. (36 pts) This problem concerns the one-dimensional harmonic oscillator. The potential energy function
of the harmonic oscillator is V(x) = ka2 /2, where £ is the force constant. The eigen-values in this case
are £, = (n+ %)hw, n=0,1,2, ..., where w = y/k/m. The normalized wave-function for the lowest

energy state is a gaussian:
a\1/4 ,
po(z) = (*) e /2
7r

where o = \/km/h2.

Useful integrals are:
(o) o0
/ dr exp(—ax?) = \/7/a, / dx x exp(—az?) = 1/2a,
0

/ dx z? exp(—az?) = /7 /4a3

— 00

Consider that the particle in the harmonic oscillator is prepared in the properly normalized, n=0
stationary state:
U(xz,0) = ¢o(x)

(a) Find the expectation (average) value of position. Classically, would you expect any forces to act
on the particle at this position?

(b) The spring then is suddenly loosened, such that the new spring constant is /4 and the new «
is /2. If a measurement of energy is made afterwards, what is the probability that the particle
will be found in the ground state (n=0) of the new spring?

(¢) Imagine instead that for the particle initially in the n=0 stationary state the spring constant is
suddenly completely loosened (k =0). What is the expectation (average) value of the energy you
would measure afterwards?

Solution

The system begins in the n=0 energy eigenstate of the harmonic oscillator, such that

\IJ(SC’ O) = ¢0($)

(a) The expectation value of position is given by

wls|v) - | " dagy(z)ro(z)

—00

We know ¢o(z) = ¢f(x) is a Gaussian in = and is hence an even function. Thus, the integrand above
is overall odd (since z is an odd function), and hence we have (x) = 0. This corresponds to the center
of the well. Classically, there are no forces acting on the particle at this position.

(b) We now suddenly loosen the spring such that our new spring constant is i its original value. We’ll

make the approximation that the process is diabatic, so that although the Hamiltonian has changed,
the wave function has not. The probability that the spring will be found in the n=0 state of the new
Hamiltonian (harmonic oscillator with o = §, for which we will denote the eigenstates ¢,,) is then
simply
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[{po) |2 = (g0 | o)
me%m%m

A () ()
()
\/;TZ

2

aiv;=
Van

2v/2
3

(c) Instead of loosening the spring constant to i its initial value, as in (b), let’s consider completely
loosening it, such that k=0. Again, we employ the sudden approximation (the implication being that
the loosening of the sprlng does not change the wave function). Our new Hamiltonian is just the free

2
particle Hamiltonian, — 35— dd 7, and so we can calculate the average energy as:

1= (o] )
— (o] 1)
_ /O:O dze () <;ii;) do(x)
PV ™ e (T2) & [e (22
= _;;\/\/Ei - dz exp (—c;ﬁ) % [—ozxexp (_Q;Z)]

/ A ex . —ax? Cex —azx?
2mf T exp a?z?e P 9 @ exXp 9
h2Vad h*Va3 22
= o 7ood:cexp( z?) z? +2mﬁ/, dz exp (—az®)

_52\/(15 Kl . Va3
2my/T \ 43 2my/T
_ ha

T 4m

Commentary: we know o = /%3 and w = /X, so we can rewrite our answer as
1
(E) = —hw
4

This is precisely half the ground-state energy of the 1D harmonic oscillator, i.e. (E) = %Eo. Now let’s
think about what we actually calculated here: we’ve calculated what amounts to the average kinetic
energy for a harmonic oscillator in its ground state, and we’ve calculated a value that is half of the total
energy (implying the other half is potential energy). This makes intuitive sense, and in CHEM120B
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you’ll learn about something in statistical mechanics called the equipartition theorem, which basically
states that for systems in thermal equilibrium, any degree of freedom that contributes quadratically to
the energy contributes the same average energy, %k gT. For the harmonic oscillator, the kinetic energy
is quadratic in velocity, and the potential is quadratic in position, so we have equal contributions to
the average energy for each. That’s exactly what we're seeing here!



